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(HYEMRF26%)

1tyy Bl

% R | oK - S+ & % Bl 2 | B @ & % | BiEES i
EX =35 3:0] A 1.00 | 62,200 62,200 EBi—2
B (A) A 200 | 55200 110,400 B —3
&M (B) A 3.00 | 45300 135,900| Hi—4
$Em (C) A 200 | 35,600 71,200, B—5
Bt & A 200 | 31,600 63200 Ei—6
EFItEHERN EE H#h = 1 5,000 5000| Hi—64
EHBRARE EEAMED% % 1| (442,900) 4,429
a &t 452,329
SHERANE 442,900




(HYEMRF27S)

HESERK

1xny Bl

% R oK -+ K Bl 2 | B @ & % | BEES i
EX =35 3:0] A 2.80 62,200 174,160| B —2
A (B) A 2150 | 45300 973,950| Hi—4
Bt & A 11.60 | 31,600 366,560| Hi—6
EBRARE EEAMED% % 1](1,514,670) 15,146
a &t 1,529,816
SHERANE 1,514,670




(HYEMRF28%)

Jinl

1Eyy HfER

£ g 2 K = B & %8 HEES
FEHER 1.00 62,200 62,200 Hi—2
FEm (A) 1.00 55,200 55,200 HBi—3
= Hi 117,400
SHEEAME 117,400




(HYEMRF29%)

e IE 4=

1Eyy HfER

£ £ 2 HE B £ % HEES
FEm (A) 1.00 55,200 55,200 Bi—3
M (B) 1.00 45,300 45300 Bi—4
= Hi 100,500
SHEEAGE 100,500




(HYEMRF30S)

rovoiEER1 H =PEAES

2tFE A 98kw
£ g 2 K . T P % Hfi| %= B & %8 HEES
FHRE BHR AU RAH (RIG) [ 20.0 142 2,840 E—16
EELF — R (RIFR) A 1 19,700 19,700 H—14
Ei=F 2 2tTEA98kw EERIER A 4.7 248 1,165| Bi—22
Ei=F 2 2tFEA98kw it FRER = 1.13 2,530 2,858 Hi—23
= 5 26,563




(HYBEMHREID)

LD =PEAES

SAk/\> 20 69kw 1E2H/FR9H. 13H, 19H
£ g 2 T P % Hf| %= B HEES ]
FEE AV FX215—REVRBEH(ES) [ 6.0 177.0 1,062| B — 15
Ei=F 2 SAkN 20 69kw EERIEE A 2.0 290 580 Bi— 18
Ei=F 2 SAkN 20 69kw fEFAIEE = 1.19 1,510 1,796| B — 19
3,438

op
anf
—+




(HYEH&RE32S)

A MNES L 1H

=DEAES

RIEH9-108 (EHRES9)
@M SHD150PS 110kw E7H/FE9H

% FR iR VN . D> - Bl #E B i ® % | BEES ]

F 4 AER/NEO—)—EL(RS) 2 113 105.0 11,865 H— 17
ST RIBR A 240 | 29,200 70,080 Hi— 12 [1x S
LTEMmEa RIBGE A 2.40 23,500 56,400 B — 13 |[1x ]
B $AD150PS 15.0GT 110kw E#Rig%t =] 1 15,100 15,100 B — 20
B fiD150PS 15.0GT 110kw HtFAEH =| 3.70 14,100 52,170 B—21 |«
RiGEHE % 24.36 | (205,615) 50,087
—REERE % 24.75 | (255,702) 63,286

a B 318,988




(HYEHREIIE)

A MNES L 1H

=DEAES

RIEH9-108 (BERAKREKSY9)

@M SMD150PS 110kw 1E17H/FE19H

£ FR i N . <t % % Hfi| #H= B ® B | BEES i C:3

F M AER/NEO—)—EL(ES) 9 2740 105.0 28,770 Bi— 17
=ik B RIGE A 5.22 29,200 152,424 B— 12 |1x B x20yF
LTEMmEa RIGR A 5.22 23,500 122,670 B— 13 [1x B x2TvyF
B $MD150PS 15.0GT 110kw Einigst S| 1 15,100 15,100 Bi— 20
B $AD150PS 15.0GT 110kw fit FHE%} S| 3.70 14,100 52,170 B — 21 |«
RiGEEE % 24.36 | (371,134) 90,408
—EEEE % 24.75 | (461,542) 114,231

a H 575,773




(HYEMRF34S)

R EE =L ES
SAk/N> 20 69%kw E6H/FESH

£ g fz K . ~t % % Hfi| #E B £ % HEES i
FEE AV FX215—REVRBEH(ES) )] 19.0 177.0 3,363 HB— 15
Ei=F 2 SAkN 20 69kw EERIEE =T 6.0 290 1,740 Bi— 18
Ei=F 2 SAkN 20 69kw fEFAIEE = 1.19 1,510 1,796| B — 19
& it

6,899




(HYEHRE3SE)

A MNES L 1H

=DEAES

RIEH9-108 (BERAKREKSV9)

@M SMD150PS 110kw iE11H/FE13H

% FR iR VN . D> - Bl #E B i ® % | BEES ]

F 4 AER/NEO—)—EL(RS) 2 177 105.0 18,585 HA— 17
ST RIBR A 2.87 29,200 83,804 Hi— 12 [1x}
LTEMmEa RIBGE A 2.86 23,500 67210 BE—13 |[1x ]
B $AD150PS 15.0GT 110kw E#Rig%t =] 1 15,100 15,100 B — 20
B fiD150PS 15.0GT 110kw HtFAEH =| 3.70 14,100 52,170 B—21 |«
RiGEHE % 24.36 | (236,869) 57,701
—REERE % 24.75 | (294,570) 72,906

a B 367,476




